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A = (x + y)2 dx + (x - y )2 dy
G
Ú

G1: y = x 2  ,  dy = 2xdx  ,  x  :  0 Æ 1{
G2:  x = y2  ,  dx = 2ydy  ,  y  :  1Æ 0{

G :  
Ett varv i positiv led runt (1

2
, 1
2

)

längs kurvorna y = x2 och y2 = x.
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A = (x + y)2 dx + (x - y )2 dy
G1 »G 2

Ú

A 1 = (x + x2 )2 + (x - x2 )2 2x{ }
x = 0

1

Ú dx

A 2 = (y2 + y )2 2y + (y2 - y )2{ }
y =1

0

Ú dy
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A = A1 + A2 = 4y3 - 8y4{ }
y= 0
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Ú dy =1-
8
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A = Greens formel{ } =
∂

∂x
(x - y)2 -

∂

∂y
(x + y )2Ï 
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ÚÚ dxdy

A = -4y
D
ÚÚ dxdy = -4 ( ydx

x = y 2

y

Ú )
y =0

1

Ú dy = -4 (y
3

2 - y3 )
y= 0

1

Ú dy

A = -4( 1
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